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BEREENL « BSRHERNBIRAT(EPH) HREREMA : 107/11/05 1RERS : FRERLD
HIREGD : 2 BEREIE(bs) :
we | memn | SETE ] EE TIFRARCBRR
RRK | IURK | FORK | IDRK

1| BSBHEERR- ES S 4 2

2 | BSRHEERR- ] 5 1

3 | BSRHEERX- 2] 1 4

4 | BSRHEERR- &in 6 7

5 | HBSRHEERX- BE 2 1

6 | BSRHEERX- flEs 1 7

7| BSRHEERR- BfF 2 5

8 | BSRHEERX- wWwI 4 3

9 | BSRHEERRX- B 1 1

10 | BSBHEEER- | BHMEIRE 3 1

BT B ER-

st - 1~ RABERER TOMEE, & TSEPRE | MARRISITRE
2 ~ IRl (%) = (HIRARE - REARE) + HRERE X 100
3+ AChEMMRIRAIERERRIEZL
(1) 0-34%(=34.5)&: 618
(2)35—-44% (=44.5) DEE : BAMAMSIHERRNENE - WHRRETHREEHHS -
(3) 45% (>44.5) UEE : FIRZUKE - UEREHFHREEMNIGE - iSRRXEESNEEEER

B
{LEARER - WKEREEERANREERARE
4~ RERRAER : BERE (-)  BIERME (+) ; BRAE 1 B+3RAKR50% - 2@+5RAK100%
5 - FIRRIEERHRIEF B - BRBRKR—EREIRE - MNFESHK




E)Ib%’_;é

=P SE T R ES

IREREENT - BSRHERNBIRATYEP) BEREHA 1 107/11/06 IBERS © FRAERED
HIRE(R) : 2 BxxEREM (abs)
- AChEIHIER (%)
we | memn | SETE B B TIFRARCBRR
RRK | IURK | FORK | IDRK
1| BSEHEERR- BT 1 8
2 | BSRHEERR- IRER 5
3 | BSRHEERX- B 5 12
4 | BSRHEERR- HRI 5 14
5 | BSEHEER- NIEE 4 12
6 | BSRHEERX- NEFER 2 11
7| BSRHEERR- flEs 2 13
8 | BSRHEERX- PN =P 3 10
9 | BSRHEERRX- TR 3 8
10 | BSEHEERR- E0% 3 4
11 | BSEHEERR- B1eHbR 2 8
12 | BSRHEERR- =) T 9
13 | BSRHEERR- BE 2 8
14 | BEER- | SEE 2 4
B - BEBRAR-
S 1 BUSBREA TR R T EETHE, mARNS R
2 IR (%) = (CHRERKE—HeERKE) - HRERKE X 100
3\ AChEMHIRHERERBEAT, |
(1)0-34% (=34.5)F: 518
(2)35-44% (S44.5) BEE : BAGUESAEEMRIENES - I 5 R TABENNE -
I R
= ivaD

{LEVEIRER -

BRI (

HKEGREEIEABREEEIDARE
4~ REBISAER : BERE (-)

+) S IBRAE1E+IRAKS 0% 2@+3RIKT100%
5  FRRIEERHRIRFEIEL - BRBRKR—ERSIRE @ LNFEEK -
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BEREAI : BENBRATYEPH) REREME : 107/11/08 1BERS : BRERWD
HIREG) : 2 5EERS M (abs) :
we | memn | SETE R R TIFRARCBRR
FORUK | DMURK | SERK | DOURK

1| BSRHEERR- R 6 4

2 | HSRHEERX- E 3 6

3 | HsRHEERX- =EHHR 1 2

4 | BSRREERR- L% 2 1

5 | BSRHERR- Ik 5 0

6 | BSRHEERR- Bl 5 4

7 | BSRREERR- g% 2 0

8 | BSRHERR- | BHRWBX 0 1

9 | HERHEERX- i 4 0

10 | BSBHEEER- ]EF 0 6

11| ESEHEER- IR 3 1

BrEE - B REER-

fest - 1 - RABRRER TEREE, R TSEPRE , MARRISIRE
2 ~ IR (%) = (HRHERGE - REERE) + HWIRERXGE X 100
3 AChEMMHIRAEREREIEL I
(1)0-34%(=34.5)&F:6B-
(2)385—-44% (=44.5) DEE : BIMAMESIHIERRINEINE - WHRRETHEBHHE -
(8) 45% (>4 4.5) DEE : FILRZWHE - URIFHRMEMINIGE - SRRXEEENREEER

&
{LENARER - WKEREEERADEEERARE -
4 REEISAER - BERE (1) 5 BIERE (+) ; BRAT 1B+37RKR6 0% > 2@+RAKR100%
5  FRRIEERHRIRFEIELS - BRBHRKR—ERSIRE  LANFESEX -




